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(3)
SECTION - i
v |
CHILD DEVELO !

b PM ﬁ:’l AND PEDAGOGY

There are 30 questions in all in this section

All questions are compulsory, .

|

‘u
_. S EUT W 30 wv T § |
/ | R W wv aifard ¥
: + 5 1ch of the following i isti .
| 'WINg 1s not a characteristic *
“J (g-] Problems with reading accuracy, E[TE{;; ::dncﬁifx;:hlngiu
(B) ~ Certainty as 10 right or left handedness ‘ !
(E} SI_u:u.}- rate of writing N
. %‘_:}[ ﬂ%f;;:l:g%r In learning and remembering printed words
r (Dyslexia) #t fasmar wdf & 2
| (A)  are feypgan, wfa qar 2y @) e
| (B) HM a1 35 &9 % v % ey A Favery
_| (C) fora =i dnft nfiy
; (D) ﬁgwﬁﬁﬁmﬁtmmﬁw
inerfull motivation is effective facior of learning.
| (A) Child becomes healthy (B) Does meditation
: (C) Learns rapidly (D) Feels happy
| EnE ;ﬁﬁjﬂw Hia ®1 worEe vew ¥ | |
| (A) AT T EAI R | (B) wH & |
(C) iy dEar & | (D) VW= EAE |
3. Craft education be given to
' (A) Retarded chi_ld (B) Backward child
%ﬂ;ﬁ!%%lﬁﬁ i (D) Gifted child
(A) "=gEaaFEH -(B) frw aw @
(C) HH aTefeh i (D) W g a1
4, How will you eradicate stealing habit of the students ?
g (A) Giving rewards (B) Through example

(C) Scolding (D) Punishment
STl ot et o o = 4t ¢ P o wwa & 2

(A) areiel i Tiiaie 35t (B) JETE0T 4T
(C) TTEAT I (D) &

5. In the identification of the gifted children we must give priority to
(B) The result of objective tests

' 1o Pare‘t?ts. i (D) The community’s view point
(C) The teachers’ opinion _
| ufeTaTs AT 1 TR HE @ o g1 e ifue wew

| (A) SR % 7 B A ART | (B) mwgmﬁmwf
(C) foraes & Fotg =it 3= =nfe | (D) GEHE % fa=r

6.  Which is the indirect method of Tension reduction ?

<~ (A) Analysis and Decision (B) Removing the Barmer

C) Substitution of other goals (D) Slublimalinn
%rqﬁﬁﬁqmmaﬁmaﬂﬁmmmhj

(A) faverw 3 Folg (B) THEZ H T HA
(C). T& vl = wfaear (D) ST il
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0, » When a test measures
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| [4} ST'H
Right '::fCh”'iff’ﬂ to Free and Compulsory Education Act, 2009 was applied in country
(A) 1 April, 2009 (B) 1% April, 2010

(C) 1™ November, 2009 (D) 1% November, 2010

Wﬁrwqﬁﬂﬁmﬁﬁmmm, 2009 391 1 HA] g3

(A) 1 a1, 2000 (B) - 1 37w, 2010
(©) 1 7R, 2009 (D) 1 7&wg 2010

I.!l NCF 2005 the objective of including Art Education in school is
{B) To appreciate cultural heritage,
(B) To devclu_p students, personality and mental health.
Only (A) is correct.
(D) Both (A) and (B) correct

NCF 2005 3 s feem 1 fererar o sivgs 37 s &
(A) - Wt famram 2t weimr s |

(B)  orilt & safirer it arfiver e 3 Farasfir T |
(C) %3 (A) wét & |

(D) =H (A) 3t (B) wét ¥ |

an individual’s ability consistently accurately, then that test is

known as

(A)  Validity (B) Reliability

(C)  Objectivity (D) None of the above

TS ST it I BRT I € A 3 v e e g & I H  wEAE |
(A). dwar (B) favamHiaa

(C) e (D) 3w & § FH 7

In the role of measurement is to provide an overview or achievement across a

number of skills.
(A) Formative evaluation (B) Summative evaluation

(C)  Diagnostic evaluation (D) None of the above

_ #mﬁqﬁwmaﬁ@?@m&ﬁﬁﬁmmwwmmﬁﬁ?ﬁ%p ¢
(A) oo geais (B) diede Heuia
(C)  Farens geais (D) 37 & & Hif 74

Research concerned with social problems carried on by the schoo] personnel to improve

school practices is
(A) Fundamental Research (B) Action Research
(D) None of the above

") Social Research
(©) “;mmﬂwﬁwﬁm%mﬁﬂmﬁm%mﬁmﬁﬁﬁ%
Wivgﬂw%qﬂaﬁﬁﬁmm%, HEAE | -

(A) Hifer STEEH (B)  foparesh e
(C) G ST (D) 394 | § FH el
- avement tests can be given in
T}hm;fways (B) fourways  (C) six ways (D) three ways
ey e fed o T E
IFFRH  (C) & WSRE (D) dAwsRD

A) 7t gFT | (B)

\

by TR || & .

|
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13.

15.

16.

17.
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(5) Y
By motor development we mean the development of in the use of arms and legs.
(A) Mind and Spirit (B) Learning and Education
(C) Training and Learning (D) Strength and Speed
A fasr | sE A wiedrat & T @ a8 ¥ sfe s -
(A) wieTss sy ame (B) atfarmy afix foren
(C) wfereor afi arfinmm (D) iR T ifer

“The twentieth century has come to be designated as the century of the child.” This
definition is given by

(A) Murray (B) Adler

(C) Crow and Crow (D) J.B. Watson
el YTt S AT @) v wer e ¥ 9w qfear A ¥ N
(A) ;¢ b (B) TEe

(C) wam (D) =&t aress

This stage is also called a period of Pseudo Maturity.

(A) Infancy (B) Childhood

(C) Adolescence (D) Maturity

¥ a7ered ol frer.qasaq (Pseudo Maturity) #1 5o o st s |
(A) vrerEmas (B) @

(C) Teremrarer (D) wigrawen

The origin of human life can be traced to

(A) Two ;_:cl[s (B) A single cell
(C) Many cells (D) No cell at all
0SSt 1 30 e ufed ¥

(A) T =M (B) %ae U Hig
(C) *EHH (D) iE iy et

- Characteristic is not of infancy.

(A) Rapidity in Physical development (B) Dependency on others

(C)  Full of morality (D) Rapidity in mental activities
ererree #t oA @y

(A) i o %} digar (B) T W fofan

(Cy  Afevaper = g (D) wrFfae famsr o daar

P.T.O.



3 (6)
1?, What is thinking ?
(A) Use of Symbols (B) Use of Language
(Cy Perceptual Process (D) Concept Learning
s
(A) it 1 sy (B) ST ST W4T
(C)- weaferss wfswan (D) Wy
19,/ For which category of subjects are the detour problems used ? _
(A) Children (B) Adults (C) Birds (D) Animals
ST T FHES & 39aiT o Ait & waieat & fee fear o @ 2
(A), ==t (B) W (C) fafeat (D) W
253. The name of the theory advocating sudden solution to the problem is
(A) Operant learning (B) Theory of insight
(C) Trial and Error theory (D) Conditioning
[HET % 3= GHMH H Feield FT a6 fera H AT e
(A) dfraras afym _J(B) gz = fagr
(C) veay ud go &1 fagra (D) 3
21. “Sensation is a gateway of knowledge.” This statement is
(A) Mental Development (B) Physical Development
(C) Attention Development (D) Language Development
“HAGAT T I YA diE & 1° a8
(A) wrFfEs fawm & | (B) vl fasma & |
(C) &9 &1 fash & | (D) v faE & |
22. Which of the following is the correct levels of learning ?
¢ (A) Facts, Knowledge-how, Information, Comprehension, Wisdom.
(B) Facts, Information, Comprehension, Knowledge-how, Wisdom.
(C) Facts, Information, Knowledge-how, Comprehension, Wisdom.
(D) Facts, Comprehension, Information, Knowledge-how, Wisdom.
e d | HH e F IR e ?
(A) @, 3 9T HEA, G, I, HH
(B) e, G, @Y, I WIS HT, W7
(C) . T, T, S A LA, G, T
(D) =, a‘:l'ﬂ" g1, 3 A LEIC]
23, Changein behaviour due to maturation etc. is also called learning. -
v (A) No (B) Yes (C) Undecided (D) Sometimes
ofrqaeaT Sedif § aer § e aRE i ot e e s ¥ |
A) (B) @ (C) iy (D) it
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24, What is the number c:f pe'rmnaht},r traits analysed by Cattel] ?
(A) 13 (C) 16 (D) 14
e gR1 foaifaa i“'m’& m’q’ wﬁﬁa iterort @t m ﬁ;ﬂq‘r &7
(A) 13 (B) 15 (C). (D) 14

25. Murray created the history by constructing a test, what is that ?
(A) Ink Blot Test (B) Sentence Completion Test

{C} Thematic Apperception Test (D) Rating Scal

= U it @ 7o e e w9 e ap o
(A) T v T (B) @R i dfeor
(C) . Fowa sremate adteror (D) i =T

26. The Practical Intelligence is called

(A) Concrete intelligence (B) Abstract intelligence

(C) Cognitive ability (D) Social intelligence
e g =t a1 s &
(A) T afe (B) 3md I
(C) Ha-ieass grge (D) wmfes gy
27. The number of factors of intelligence according to tridimensional theory is
(A) 90 (B) 110 (C) 135 (D) 120
qfg % Bamar fegra & @ 9 & srsl & de &
(A) 90 (B) 110 (C) 135 (D) 120
28. The object in the environment which an organism tries to attain is called
(A) Reinforcement (B) Motive

(D)  Incentive

(C) Stimulus
yfiater i e fad wolt wre #0 & wEre e € e e &
(A) waEeH (B) W=
(C) FEmu=® (D) W
2/9, In Individual difference we find
(A) Variability (B) Normality
(C) Both(A)and (B) (D) None of the above
AT 9% | &9 9T &
| (A) . faaemehear (B) e
; (C) « FF (A) 3 (B) (D) 39 H ®/ HiE
i 30. Meredith's study has shown that children of those families are in general

at a higher social level.
(A) less healthy and developed
(C) more healthy but less devﬂinpcd (D) not healtlgr but dcve]g

Hifew & anga % AR T w6 ¢ & v w

| Wit g A SR aad o
(A) =9 =™ w fesfaa AB) @i T v famfae
(C) =fuw @ vd s fawlag (D) e Tl W fasfaa

L—*—_

which are

(B) more healthy and developed
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32 ﬁ?ﬂﬁ?ﬁ%maﬁqq o
(a) et w3 (B) it e &
P s R d (D) &l e |
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(A) TH= B) fom
34. et 3 drrait F A g A G H T E 7
(A) TR (B) FerareH J
,_LG)' 2ufist (D) T
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36, ﬁﬂﬁ?ﬂ#hﬂuﬁﬁwﬁﬂﬁﬁwwﬁ.uﬁaﬁm'{ﬁm&ﬁﬁ .
Ca) v AT |,
(B) Fergarg=g W0 :
(C) afe T
(D) fogqE T
37, ey e Feor i Ao R R
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SECTION-1I
LANGUAGE-I

ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

The best sequence for learning English language is
(A) Listening, Speaking, Reading, Writing.

(B) Speaking, Listening, Reading, Writing.

(C) Listening, Speaking, Writing, Reading.

(D) None of these.

A language has to be
(A) Phonetically correct (B) Grammatically correct
(C)  Alphabetically correct (D) Systematically correct

Flash cards are useful type of
(A)  Audio-visual aids (B) Audio aids
(C) Visual aids (D) None of these

A good text-book of English should possess

(A) Reading material (B)  Pictures and illustrations
(C)  Cultural content (D)  All of the above

It is of great utility in teaching English pronunciation,
(A) Epidiascope (B) Films
(C) Linguaphone (D) Radio

dccent and intonation,

Latest scheme of evaluation outlined by the CBSE namely
(A) Comprehensive and Continuous Evaluation

(B) Continuous and Comprehensive Evaluation

(C) Continuous and Communicative Evaluation

(D) None of these

To cover all course in minimum time, which type of question should
(A) Short answer (B) Objective type
(C) Essay type (D) All of the above

Unit test is an expression of
(A) Effective Evaluation
(C) Summative Evaluation

(B) Formative Evaluation
(D) Normative Evaluation

be asked 2




§T-2
39.

40.

41.

42.

43.

45.

13) v

Pronunciation of students can be tested through

type questions.
(A) Essay (B) Objective =
(C) Short answer (D) All of the above

o test
(B) Comprehensinn
(D) All of the above

Oral test and Examinations are intended t
(A) Reading
(C) Expression

Read the passage carefully and answer the questions that follow :
Prosc Passage-1 (Q. Nos. 41 to 45).

People in the villages of Rajasthan lead a very simple life. Their way of living has not

lar huts. The walls of these huts are covered

The life of these people is full of
Water is a major problem.
ter. For their agriculture
to face difficulties

e to wear dresses

changed over the years. They live in circu
with cow-dung. Every hut has a small place for worship.
difficulties. It is very hot in summers and cold in winters.
have to walk a long distance 1o get drinking wa
very brave. They have learnt

o enjoy their life. Women Ik
a rich tradition of music

Sometimes they
d on rain. But these people are

they depen
They also like t

and they never lose hope.

People living in villages n Rajasthan have

full of bright colours.

and dance. The people ©

f Rajasthan arc Very proud of their culture.

Which © nym for “brave’
(A) Hardworking (B) Prosperous
(C) Valhant (D) Enthusiastic

f the following words is 2 syno

The antonym O f *bright’ 18
(A) Colourful (B) Dull
(C) Transparent (D) Dark

0

is correctly spelt

Which of the following words -

(A) Immediate (B) Imxmgdmlc

(C) immedieta (D) Imediate

“Their way of living' can be replaced with the wrc-rd‘

(A) livelihood (B) |!vr.:lmess

(C) lifelike (D) lifestyle

Find the correct 0n¢ word for the phrase given below:

‘Countryside of a nation’ ) Ui "
[nhabitants =+

ural
(A) X2 (D)
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47.
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49.

(14) s
. 3
cad the passage and answer the questions that follow : x

Prose Passage — || (Q. Nos. 46 to 50).
X Most children start watching television long before they enter school. Many doctors
: ; :
Ve come to the conclusion that children up to the age of two years should not watch TV.
The doctors are of the view that the first two years of life are very important for the
development of a child’s brain. Spending time with parents and others encourages

leamning and healthy physical and social development. As children get older, TV can be
watched to a limited extent. Children preparing to enter school can learn the alphabet and
numbers from educational programmes. They can also learn about wildlife on nature
shows. TV can be an excellent educator as well as entertainer for children.

Both the words *Children’ and ‘Entertainer’ are
(A) nouns (B) pronouns

(C) wverbs (D) adverbs

The verb in the clause ‘they enter school” is in

(A) simple past tense (B) simple present tense
(C) present perfect tense (D) present continuous tense

Which of the following has the three degrees of the adjective in their correct form ?
(A) Poor, more poor, poorest

(B) Important, most important, importantest

(C) Old, older, oldest

(D) Thin, thinner, more thinner

phrase ‘a good thing’ the determiner used is

In the
(A) good (B) thing
(C) athing (D) a

Conjunctions in the passage are
(B) about, and

(A) that, and
(D) about, also

(C) that, also
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Which of the following senten
(A) How long will you take ::}es ﬁ;?:hﬂ;:n? :zcr;;sfumm S ame?
(B) How did long you will take to finish your wc.:-rk ?
(C) How long you take to finish your work ? .
(D) How long you will take to finish your work ?

The passive voice form of the sentence — ‘She will write a letter.’ will b
(A) A letter will written by her. | )
(B) A letter will be written by her.

(C) Written a letter will be by her.

(D) Will a letter be written by her ?

The passive form of the sentence — “Who will help vou 7" will be
(A) By whom will you be helped ?

(B)  Whom will you be helped ?

(C)  You will be helped.

(D)  Whom will be you are helped ?

Consonants sounds are

(A) 26 (B) 24
(C) 27 (D) 28
Phonetic symbols are

(A) 44 (B) 40
(C) 48 : (D) 52

Which one of the following is not included under the principles of English teaching ?

(A) Principle of Natural Process

(B) Principle of purpose

(C) Principle of uprooting from culture
(D) Principle of selection

The criteria to choose a particular course for particular class is called
(A) The Principle of Selection (B) The Prfnciple of Gradation
(C) The Principle of Proper order (D) The Principle of Motivation

The unit of teaching in Direct method is

(A) Word (B) Sentence
(C) Phrase (D) None of these

Alphabetic method is also known as
(A) Word method
(C) Spelling method

. (B) Syllabic method
(D) Phrase method

In which method teacher states rules and gives examples 7 o
(A) Inductive method (B) DEdume; :ﬂ
(C) Translation method (D) Noneo
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SECTION - 111
LANGUAGE-II
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

61.~ Diphthongs are e
€ (A) pure vowel sounds (B)
(C) semi vowel sounds AD)

pure consonant sounds
combination of two pure vowels

62, Which of the following does not have /i
& (A) Week
(C) Deep

:/ sound ?
-{B) Bean i
(D)  Pretty |

R v we——

63. - Pick-out the incorrect transcription.
(A) pool /pu:l/

(B) fool /fu:l/
(C) tool /tu:l/

D) foot /fu:/

64.  How many fricative sounds are there in English 2.
(A) B (B), 7
© 92 (D) o

65,7 The correct transcription of *thick® is -~

C A ok (B)  /Bick/
(C) 7/Bdk/ (D) /0o:k/

66.  Which of the following is not true of first language acquisition ? "
(A) Itis universal.
(B) It is natural.
AC) It does not require formal instruction.
(D) It requires formal instruction.

ﬁ'?‘./f":Evaiuaﬁﬂn does not ascertain %
(A) the educational standard of the institution.
AB) the administrative standard of the institution.
(C) the teaching standard of the institution.

(D) the efficiency of the teachers of the institution.

68. Which of the following is not part of the traditional class-room ? Lf/
¢ (A) Text-book (B) Chalk

(C) Computer Network (D) Blackboard

69/ " To motivate and create interest among children Harold Palmer does not suggest |

Game like exercises
(D)  Minimum of Confusion

i e ———

(A) Competition AB)
(C) Repetition
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Error correction does not require -
(A) to attend to errors in a sensitive way.
(B) to embarrass the learner though correction.
(C) to develop a task wherein students can use language frame.
(P) to provide good model of an expanded grammatical utterance.

71,/ Which of the following skills will not be strengthened by using text-book as material for

“  teaching? 7
(A) Effective writing (B) Comprehension skill
(C) Grammar skill (D) Communication skill

72. One should not learn English because

(A) Itis the language of knowledge.
(B) Itis window to the world.
(C) It is the language of British rulers.
“(D) Itis the language of liberal, modern thinking.

73. The students learn patterns of language by repeating model sentences that teacher
provides. They memorize set phrases and receive positive reinforcement from their
teacher when they perform drills. This method 1s
(A) audio-lingual method _¢B) communicative approach
(C) total physical response (D) the silent way

24, The students take all subjects in English medium. They take part in class and school
activities with students of their age who speak English. This approach is

_AA) task based learning - (B) grammar learning
(C) immersion (D) translation method

15. Natural approach of learning language was developed by 2

(A) Krashen and Terell (B) Chomsky -

(C) Berlitz (D) Henri Goiuns
Unseen Passage : (Q. Nos. 76 to 80).

First of all, I need work. and a decent wage for my work. Aristotle defined happiness,
not as a sum of pleasures, but as unimpeded activity. 1 want work which is hard but
interesting. | am exceptionally lucky because I can choose my own work to a large extent.

If I want respite from science 1 can go and be a war correspondent, or write children’s
stories, or make political speeches.

1 require friendship. Particularly I require friendship of my colleagues and comrades

in scientific and political work. 1 want the society of equals who will criticize me, and
whom 1 can criticize.

P'Tiu..



¥ — |
76, Conjunction i i ‘/ = ST-:‘
junction in sentence 3 is :

(A) want (B) hard |
59' but (D) interesting :

?thcording to Aristotle, happiness is

(A) asum of pleasures (B) unimpeded activity

/j{'} impeded activity (D) hard work

78.  The author requires friendship of '
(A) political leaders (B) teachers

(C) fellow workers (D)  young children

79. How many connectors are there in sentence § 7
“1f I want respite ... political speeches.”

) 2 (B) 3

() 4 (D) 5

80. Why does the narrator want work ?
(A) To get decent wages (B) To make friends
(t‘} To get happiness (D) To write children’s stories

Read the Poem carefully and answer the following questions : (Q. Nos. 81 to 85).
When to the sessions of sweet silent thought,
| summon up remembrance of things past,
| sigh the lack of many a thing 1 sought, .
And with old woes new wail my dear time’s waste;,

Then I can drown an €ye, unused to flow,

For precious friends bid in the death’s dateless night,’
And weep afresh love’s long-since-cancelled woe,

i o8 ished sight.
And moon the expense of many a vani
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31 ‘sessions of sweet silent thought’ is an example of
~(A) alliteration (B) assonance
(C) imagery (D) simile

(32 The rhyme scheme in the poem is

(A) abba "~ (B) abab
(C) baab (D) bacd
83. Which of the following words taken from the poem is an example of personification 2. ,
' (A) eye (B) time
(€) love's (D) moon

84. Pick out the correct example of metaphor.
(A) eyes like two lamps ~~(B) the ship of life moves on
(C) rosy lips and cheeks (D) as white as snow

85. What is hidden in ‘death’s dateless night’ ?

(A) beloved (B) poet
(©) friend (D) eye
Bﬁ,f Fill in the blank with an appropriate ‘modal’ :
Heisill. He __ seea doctor.
(A) can (B) would
(C) could (D) must
87. - Fill in the blank with the appropriate preposition.
- He is angry me. d\
AA) on p (B) upon
(C) with —~ (D) at
88, Elegyisa {/
- (A) praise of a political leader. (B) lamenting the death of a dear one.

(C) evaluating the work of people. (D) eulogizing the birth of a child.

89. - The subject matter of this sonnet is |
(A) biography of a person ~{B) courage
(C) love (D) revenge

20" Drama differs from poetry as ;:/‘/
(A) it has metaphor. AB)

it has action.
(C) it has rhyme scheme. (D

it is always written in stanzas.

P.T.O.
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SECTION — IV / @UE — [V

In this Section, there are 2 sub-sections i.e. IV(a) Mathematics and Science and IV(b)
Social Studies. Both the sub-sections consist of 60 Multiple Choice Questions each.

The candidate has to choose either 1V(a) Mathematics and Science OR IV(b) Social

Studies as selected in the Online Application Form and answer all the 60 questions.
79 @vE H 31 I9EUE 3t 1V(a) T wur fame o 1V(b) wrfaes speg= & | B I9@vet
% wedsh H 60 Fgfasedg v € |

et @t 1V (a) ToTE o famr aan 1V(b) s e, e = SRS SEEH-9T
3 fapar & 3 | Fordlt U 3u@vE B g ¥ UE A 60 WEHl H I AATE |

SECTION — IV(a) / @UE - 1V(a)

MATHEMATICS AND SCIENCE / Tifurer e fasm=

There are 60 questions in all in this

must answer all the questions.

W @ETE H $A 6
91. ~Nature of mathematics 1s ‘
7 (A) ltis logical. (B) Itis difficult.
(C) It is ornamental. (D) It is not for average students.
nford @ HME -
~(A) uE ClE® € | (B) % wicA & |
< (C) TE A E | (D) 4 3iraa faenfaal & fom =81 & |

92. In which of the following practice teaching helps ?

(A) To increase leamning transfer
(B) To increase understanding solution of the problem

(C) To develop efficiency use of theoretical knowledge
(D) To work quickly of any problem
I § § wean F %
(A) afamd Wﬁ | qfa:..;;ﬁ
e & &l S 9
© 57 Ul A I & H fawrg

(C) Hgif<asw T
(D) ﬁ‘?ﬁm%?ﬁﬁﬂiﬁﬁﬁ

section. The candidates who have selected this subject

0uTAE |hﬂmﬁﬂﬁwmﬂwwm%ﬁﬁmmmﬁaﬁﬁ |
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Importance of Action Mathematjcs is

(A) Direct €Xperience
(B) Learning by self doing

(C) Tobe Pe€rmanent ang clear of concepts
(D) Al of the above

O 1 v
(A) et arpg
AB) & %3 drgy
"© FVIRUNAT 1 W e} werefy gy
{E’} TR ey
Part of language of mathematics is
(A)  Sign (B)  Number-Number variables
(C)  Formulae (D)  All of the above
T 5 sy @y i 3
(A) e (B) e w
(€) w= (D) v oy
In which subject importance of Mathematics Teaching is ?
(A) Society (B) Science
(C) Principles and Logics (D) Al of the above
mifrer Fereqor <61 o P o Ty & 0 3
(A) wEm (B) fasm
(C) fogr wd & D) I wit
Suitable method of Arithmetics teaching is
(A) Project method (B) Demonstration method
(C) Analytic method ._(D] None of these
siepmiforer fomror 1 Juga e & -
(A) st i o) e
(©) Faveta fafi (D) T &=

ing ?
' jecti ' teacher in class-room teaching ?
Which objectives achieves a _
1] (B) Affective
Cognitive
Eg}) Psygtl::wmomr (D) All of the _:tbuve
E SETIE He-Ferur H g VT i W 6l ¥ 7

(C) w-¥dels gp)/

T
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8. Importance of Diagnostic Test is

(A) inteaching

(B) in counselling and guidance

(C) in arrangement of remedial teaching

(D) All of the above

Frerme v e

(A) T a

(B) vy a3 P o

AC)  FTaens o %t sggwn §

(D) Iwde it 4

99.  In Mathematics teaching, main role of Mathematics teacher is
(A) Philosopher (B) Friend
(C) Counsellor (D) All of the above
wiforer feveror F anemes =i gy g
(A) wmife (B) fma
(C) T (D) 3 &l

100. Suitable method of Mathematics teaching is
Demonstration method

(A) Lecturer method (B}
(C) Inductive-deductive method (D)  All of the above
rforey forqor 5t 3 Fafe &
(A) = fafy (B) wevA fafy
~(C) smmEFam fafa (D) It Bl
101. It'{ﬁ}ﬁxﬂz = 37 % 33, then the value of n is
(A 3 (B) 2
(Cy 35 (D) 6
afr (v3)° x 9% = 37 x 3f3 &, @t n 1 A= H=@E
(A) 3 (B) 2
C© s (D) 6

102. 2x+4y—8xy-1=7?
(A) (1 +4v)(2xv-1)
(C) (1-4y)(2x+1)
x+4y-Say—-1=7?
(A) (1 +4y) (2x=1)
(€) (1-4y)@x+D)

(B) (I -4y)(2x—1)
(D) None of these

(B) (1-4v)(2x-1)
(D) H & HE AR

P.T.0.
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103.

104.

105.

106.

107.

108.

(68)
If 3x + 7y =75, 5x — Sy = 25, then the value of (x+y)=

(A) 17 (B) 16
(C) 18 (D) 15
A3+ Ty =75, 5~ Sy =257 (x + y) A AN
(A) 17 (B) 16
(C) 18 (D) 15
What is the value of /625 + /484 ?
(A) 47 (B) 56
(C) 52 (D) 35
"\{55 b m Rl HIH =41 ﬁ"ﬂ"’ %
(A) 47 (B) 56
(©) 52 (D) 35
Find value of 3/4/0.000729 + /0.008
(A) 0.1 (B) 0.5
(C) 0.06 (D) 0.8
A1/0.000729 + 3[0.008 1 T #Fm
(A) 0.1 (B) 0.5
(C) 0.06 (D) 0.8
At what simple rate of interest a sum is double in 8 years ?
(A) 11.0% (B) 12.5%
(C) 12% (D) 13.5%
RO A St 6 57 8 i 99 8 T4 J g 8 S ?
(A) 11.0% (B) 12.5%
(C) 12% (D) 13.5%
If(a+b):(b+c):(c+a)=6:7:8anda+b+c= 14, then the value of c =
(A) 6 (B) 7
(C) 8 (D) 14
gfg(a+b):(b+c):(cta)=6:7:8a+b+e=14dc=
(A) 6 (B) 7
(C) 8 (D) 14

ST-2

T

Neena and Meena started a business with investment of I 30,000 and X 45,000

respectively. What will be the share of Meena from the profit of ¥ 1,50,000 after 2 years ?
(A) T 30,000 (B) 45,000
(C) T 75,000 (D) None of these

e a3t o 3 HEE 230,000 T 2 45,000 F FEw ¥ @R oy fR 1 2 @ aw

% 1,50,000 % g § | Hi=T S 90 T EW 2

(A) ¥ 30,000 (B) ¥ 45,000
(C) 275,000 (D) T & & T
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Eie s :
109. What is the value of ':_;% in decimals ?

(A) 0.0005 (B) 0.005
(€) 0.05 (D) 05

Soj, 1 Zreera o T

(A) 0.0005 (B) 0.005
(€) 0.0s (D) 0.5

110. The multiplication of the age of Rajeev, before 5 years and afier 9 years, is 15. What is the
present age of Rajeev 7 -

(A) O (B)y 7
(C) 5 (D) 8
nﬂaaﬁsa&qﬂmﬁmaaﬁmaﬁmmw15%4?%3&%%“7%?
(A) © (B 7
(C) 35 (D) 8

111. In the given figure AOB is a simple line and OC is incident on this. Ifa: b =2 : 1, then
the value of a is

c
d
A et B
(A) 80° (B) 100°
(C) 120° (D) 140°
fet ma fa § AOB v #itet dar & oy vt o OC smvfee & 1afra:b=2: 1 &t Raw om
1 & 7
c
d
A A B
(A) 80° (B) 100°
(C) 120° (D) 140°

112. InaAABCif3 ZA =4 ZB =6 £C, then the value of ZA =

(A) 60° (B) 80°
(C) 30° (D) 40°
frdt AABCH 3 ZA=4 /B=6/CE T LA=7""
(A) 60° (B) 80°
(C) 30° (D) 40°

P.T.O.
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1 ﬂ the given figure, O is the centre and ZACB =40°, then ZAOB =

(A) 30° (B) 40°
(C) 60° D) 80°
ﬁnﬁmﬁﬁwmrhoiﬁmzaca=4ﬂ°,ﬁ’r.«:AUB=

(A) 30° (B) 40°
(€) 60° (D) 80°

?4{ If the radius of the circle is increased 3 times, then how many times the new

circumference increase from its ori ginal size ?
|

(A) 3 (B) 3
(D) None of these

€ 9
wqﬁ#ﬁmsqﬁaﬂﬁw#qﬁﬁmﬁgﬂﬁﬁmﬁmwﬁ?
{A) 3 (B) %
<@ 9 (D) ¥ & %

115. A room is 12 m long, 9 m wide and 8 m high. What is maximum length of a rod that can
be kept in the room ?

(A) 17m (B) 16m
(€) 15m (D) 14m

T S 12 . v, 9 o, Gt o 8 o S ¥ | gt afirmem e o # dW @
HA 87

(A) 174 (B) 167

©) 154, (D) 147
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116.

117:

(71)

City Applicants in Lakh | Ratio of Pass and fail
A 1.25 7:3 =
B 3.14 533
C 1.08 4:5
D 2.27 43
E 1.85 322
F 2.73 T2

Note : The students (in Lakh) who appeared and ratio of pass and fail in different cities
are given in the following table, Read carefully and answer following questions :

fordwr : fafirst =il & ww witen & et At sefigant & dE (@l ) q91 @ 96§ % 8

ATt @ S fean T | elt-sifa snage e e el & g EiE

T IolZan] w1 W@ | OTH & e £ aTet &
Em@s) FaT
A 1.25 7:3
B 3.14 | 5:3
C 1.08 4:5
D 2.27 1 :3
E 1.85 ¥
| F 2.73 F e

How many applicants pass in city E ?

(A) 13000 (B) 1110000
(C) 113000 (D) 111000
T E | giten ® wg g are geiigant #t de e o
(A) 13000 (B) 1110000
(C) 113000 (D) 111000

Which city has highest number of failures in exam ?

(A) F (B) €
(C) B (D) D
e 71 et €1 e BTl Wi HE A 2
(A) F (B) C
() B (D) D

P.T.O.
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118. Histogram is used to represent ﬁz}
A )
< EB; Ezn-cuntmuﬂus grouped frequency distribution
i grf:mped frequency distribution
ontinuous grouped frequency distribution

(D) All of these
mm?ﬁﬁm%
AB)  ariiga avamar sy

(C) W afign ariamay g
(D) o @

Note : Percentage of girls in di
ge of girls in different schools are lotted in followi
carefully and answer followin g questions : P ing graph. Read

Fordor . fot v o & fafiry Porrenait &
S e e i F1 aferere fear mar & | wreeE @ e

il

=

=
—

g
—

=
B pa
=
3 B
_|
a3
o
L
=

No. of Students
(Ferenfirt %1 simam)

: ¢

17.5

% of Girls | mefegi =%
= et et £ L Dh
o &
L]

-4:]
c:g

School / faamg —— Schoot i

119. Total number of boys in school T.

(A) 300 (B) 600
(c) 750 (D) 850
faame™d T e # @ »
(B)
500
{3] 750 (D) 850 )
(C) 5
a
f students in both school P and Q
= T}mlg:;;umbern (B) 1575
EC} 1450 (D) 1625 -
meqﬁﬁﬁwwﬁg}ﬂﬁ:m
(A) 1425 s

(C) 1450
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121, What happens when d : . |
“ @A) Bleadbing powdes :lart: Vime reacted with chilorine gas ?

(B) Baking soda forms
(C) Washing soda forms
(D) Plaster of Paris forms
mﬂm_tﬁﬁ'ﬁwqﬁ & 9 @l mﬁﬁmﬂﬁrﬂqﬁnfﬁ'mmmﬂh e
(A) Faias gt aen ¢ |
(B) & Hrer a7an & |
(C) WA EEame |
(D) e A frm = &

122, Who is Father of Biology ? ',/

(73)

(A) Lemark (B) Anstotle

(C) Theophrestus (D) Charls Darwin

i fas & sw e £ 0

(A) wur _AB) 3w

(C) feanken (D) = i
123. Which one of the following activity is action verbs 7 La—"

© (A) Tosce {(B) To underline

(C) To listen (D} To know

fr= & & = =t e s a0

(A) & (B) tifee &

(C) H7 (D) =

124. “Science is an attempt to make the chaotic diversity of our sense experiences correspond
- to logically uniform system of thought.™

Above mentioned definition of Science is given by

(A) W.C. Dampicr (B) Albert Einstein

(C) Pt J).L. Nehru (D) 1.B. Conant

gt 7 it 1 sna e fahrea 0 o Tl faarewone R 9 & mam st
fam s 1"\~

et ) 3w afomma &
(A) w=g . SEiET (B) 3= IR
(C) | AU TeE (D) =&t FwE=
"hic is Child centered 7 " »
o ::;RI}':;T;:?{;cthnd (B) Problem solving method
(C) Laboratory method (D) All of these
o o a1 Hred oy § 7
(A) wiee fafu. (B) wwea-gamH fa
(C) waremen fafd (D) ¥ | =

T2,



¥

1267 - ¢
;T; i l;afh%r:eﬂgl?ﬂnﬂmy of teaching 0bject]iv 2
(C) B.S. Bloom : (g] N.E. Gm-undiaﬁd
(A) Tt o o B e 7 o Spencer
0T e st

(C)  Thomas F. Gilbert (B)  Norman A. Crowder

410G oo aﬁ%ﬁqﬁ SV & “? Thorndike
(A) 1w =y oy u{{} S
G s ®) e e

i g s O
Mg 1S co-curricular activity in Science teaching ?

A
(A) Black Board (B) Science Fairs

(C) Text-Book g T ,
T 3 8 1 <t e et feer & g 3 Alds
(A) vame (B) fasmmdem [
(C) Ay (D) =597 gt

129:§,»'W]1ich of the following is an Audio Aids ? . A

’ ;{g; =81H.P. ) (B) Epidiascope
Gramophone D) Magic La

TR s ph— O
(A) su=d, (B) fa fawne 43
(C), T (D) MmN

'!/3-0: Main purpose of Evaluation is
(A) to set question paper only
(B) to know learner’s performance and bring improvement
(C) to maintain discipline
(D) to conduct examination only
i 1 g R &
(A) Fad VeA-99 098 HEA |
(B) afenmoeel S I AT T AR |

(C) e 3 T |
{D} ﬂ-ﬁﬁmaﬁ{a' |

i edial teaching ? WV .
Imﬂs‘;‘“l;:;‘?ﬂ{:{ﬁlg i (B) Interpretive teaching
(C) Diagnostic teaching (D) None of these

SR (oo feweT <A
(A) T=1 e (B) HTETH
©y forgrTenes RRITT
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13;-1 w}ﬂl'-‘-'h of the fD]..iOWiI]g b[]{],}.- part of p]ﬂ-ﬂt g hﬂpiﬂ]d ?L’/

¢ (A) Gamete (B) Flower
(€) crary (D) Anther
fepeiferey o & i T I A1 AT ST #en & 2
g (B) ™
ll’f. Which of the following bacteria is beneficial for mankind ? ~
< (A) Streptococcus (B) Salmonella
(C) Penicillium (D) Aboveall
For=ifaper iamupstt § & g i % g omawr § o1
(A) BRIHFEE \ (B) e
(C) Teiifuferm (D) s
134. Gastric juice contains e
(A) Pepsin, Lipase, Renin (B) Trypsin, Lipase, Renin
(C) Trypsin. Pepsin, Renin (D) Pepsin, Trypsin, Lipase
e T #id &
(A) e, wsts, (B) Feftm, wmets, A
(©) fefam, tftg=, (D) i, e, wmas
135, Which of the following is a micronutrient for plants ?
(A) Sulphur (B) Manganese
(C) Magnesium (D) Phosphorus
ﬁmﬁﬁﬁﬂmﬁ%hﬁmﬂﬂmwﬁﬁwm 24~
(A) TR (T9F) (B) ﬂﬂﬂm
(€) (D) HERRH
136 Which cells synthesize and secrete testicular hormones (androgens) in man ?x-.f«,
(A) Sertoli cells (B) Mumfs celllls
(C) Spermatogonia (D) Leydigeells
Wﬁﬂ?ﬁﬁﬁmﬁwmmmuﬁwﬁwﬂﬁﬁ
(A) T BT (B) T FRT
(D) e HEHEL

()

’ is v—""
137, The approximate temperature of the body of a healthy personis

< (A) 37°C (B) 37K

EC; 37F (D) 37R

wmmﬁmwwwmﬁ
(k) 37 Terh 20T (B) 37 %
(D) 37 T

(C) 37 HRAERE

P.T.O.
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138. INis (76)
ef-LIuaI o hﬁ“’ man .
(A) 10 Y dyne ?
) 10} (B) 105
U Y o w3 (D) 106
(A) 104 ™
(€) 10} ‘:[B)] 105
) 100

139, Whichm
0 ~ :
(A) Cnngsc?iill:answnatmn of heat is essentially not required the medium ?
(C . (B) Convection
) Radiation (D) Al not required.

(A ﬂﬁﬂqﬁmmﬁh&?ﬁﬂmwwﬂmaﬁmzﬁmﬁh o
M) (B) Haw

il (D) &t 1§ sqravgaan =@

14'[_’__- The velocity of sound in air is taken as 332 m/s. If the pressure of gas is taken double,
- then what will be the v l.'.‘].i‘".‘il}' of sound in air ?

(A) 996 m/s (B) 664 m/s

(C) 166 m/s 1 (D) 332m/s
Eﬂwﬁrmaﬂﬂ:rﬂaqﬁrm‘ s ¢ | aft ag & T & 7 o few 9 & wfy wan
(A) 996 Htex g @z (B) 664 HeY 9fa d=vs

(C) 166 T ofa d=vs (D) 332 Hiex wfa B

141. The escape velocity from the surface of the earth is -

(A) 11.2km/'s (B) 11.2m/s
(C) 11.2c¢cm/s (D) 11.2mm's
el % gt § T 4 H 0 §

(A) 112 fwemdier afa #Fvs 4B) 1.2 He uf dwvs
(C) 11.2 @<t wia #@0E (D) 11.2 eitter fa dwve

142. Natural fibers are ™ '

) (A) Cotton (B) Wool
: (C) Silk (D) All
w1 E
(A) FIH (B) &
() fae D) ol

Composition percentage of Ca0 and Si0, in Portland cement is v

' 0-45% and 10-15% (B) 85-90% and 40-45%

%’ 20:68% and 17-24% - (D) 3-Iﬂ"z§ and 80-90%

$i0, @l HHed wfereret
Lgripeion ?;fs 2 (B) 85-90% 3ftT 40-45%
(A) 40-45% $ :g-zw (D) 3-10% 3T 80-90%
-68% S ¥
@ o0 ¥ |
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sT-2
Lyﬂ, Examples of Web Browser are
(i) Mozilla _ (i) Opera
(iii) Netscape Navigator (iv) Netscape
(v) Internet Explorer (vi) Mozilla Firefox
(A) (i), (v) & (vi) (B) (i), (iii) & (iv)
g;] (1), (11) & (i) _ (D) All of the above
AL o eI &
(i) T - (ii) 3R
(iii) HeEhy Aaiier (iv) Hewha
(v) 2T TERT (vi) wifeer wrETEE -
(A) (i), (v) 3 (vi) (B) (i), (iii) 3 (iv)
(C) (i), (ii) T (iii) (D) o gt
145. Asteroids are found in between the orbits of
¢ (A) Saturn and Jupiter (B) Mars and Jupiter
(C) Earth and Mars (D) Saturn and Uranus
e{EuE e 1 Fensl & dtg § A oo
(A) wif vd geefa ww _(B) e we gt 0w
(C) 9! Ud HE 0 (D) wf4 vd gAd UF
146. SONAR is used for
I'd (A) Measuring distance, direction and velocity of objects in water.

(B) Measuring distance, direction and velocity of ohjects in air.
(C) Measuring distance and direction of objects in water.
g::}' Measuring direction and veln;.i% of objects in air.
% fow o aels SE d & A e
_(A) e o fera vl w0t g8, Foem vd wer A & e o
(B) arg ¥ feger faved =it A, feen wel et = & o
() e o feerer firoet =t gt od faam A & fomg
(D) arg ¥ e froet @t feem ua = e & fo o

147. Which of the statements about the reaction given below are incorrect ?
2PbO,, + C(yy — 2PbS ) + COyyy
(i)  Lead is getting reduced.
(i) Carbon dioxide is getting oxidized.
(iii) Carbon is getting oxidized.
(iv) Lead oxide is getting reduced. .
(A) (1)and (i1) (B) (1) and (mi)
(C) (i), (i1) and (ii1) (D) All
et & ¢ spfafmar & Hed H B W HET HEA &2

2PbO, + Ciy— 2PbS ) + COy

(i) o sgafad @ w e |

(ii) Frd TrpstaEEs IyAran & @ e |

(iii) e Ity & wWE |

(iv) e siFaEe ATAEa 8 W e | +

(A) (i) Td (ii) (B) (i) = (i)
(D) w

(C)" (i), (i) @ (iii)
P.T.O.
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150.

“(B) M =Fey(SO,),. X = Fe,0,, Y = 80,,.Z=H,0

(A) M=Fes0, x -
(B)

M=Fe1{5{}] X =
473 =F G,Y:SD
() &U,

Z=H,0
3 2 2
M =FeSO,, X = Fe,0, Y =50.. 7= 50

(D) M=Feys0,),,X= ] j

Iﬁt‘.‘ﬁqﬁaa ? 2
HEIRIEE? Atfrar & geurg fefiar - 1

\ . X+Y +F
M = FESD4.XZFEG.Y=SDI,Z=SO]

(€) M=FeSO,, X =Fe,0,, Y =$0,, Z = SO,
(D) M =Fey(8SO,),, X = Fe0, Y = $0,. Z = H,0

P F

Latent heat of vaporizationis |~

(A) the heat energy required to change 10 g of liquid to gas at atmospheric pressure at ifs
boiling point. i
(B) the heat energy required to change 1 L of liquid to gas at atmospheric pressure at its
boiling point.
(C) the heat energy required to change | ml of liquid to gas at atmospheric pressure at
its boiling point.
(D) the heat energy required to change | kg of a liquid to gas at atmospheric pressure at.
its boiling point.
GTIHTOT i T FH A
(A) 9 g HE A 10 W 5 B AGEUSHE 51| AT 39 % aeeeie 7 i saEd
ufieed &t % og smaeas @ 2 | a"
W "_'.'-:
(B) Wﬂﬂmﬁlﬁﬁﬁﬁmm@;ﬁﬁwﬂﬂ?y |
ftere= & % feg ArEva g | 1

(C)y @ =i 9 A St | el v w arpveds g ek gw % saeim W
" qfads e ¥ e smEvEE A € )

(D) 9 @ @8 =5E e | mﬁﬂﬁmmmmﬂ;mﬁ_
ofrads & feu sava® gl & |

How many number nfpartiuf:les willbein8 g (}2 molecules ? W

(A) 15.1x10% (B) 1.51x10%
13

c) 15.1x10" (D) L15x10

{s;qaiﬂmmﬁmﬁaﬁmﬂvﬂ

(A) 15.1x10% _(B) 151x10%

13
(C) 15.1 x 10" (D) 1.15x%10



§T-2

92.

.,

94.

95.

(79)

SOSECT]()N ~1V(b) /e Ve ’ Y
CIAL STUDIES | At
: Horgy

ﬂuqfwta%ﬂ-ﬂmm Ham ¢ |
& ;andld:t:a :: fln::jt elected for the office of Rajya Sabha muyst be
B
(€) 30 years 014 :Di glﬁ i:::: E:g
mwwmqﬁw%ﬁmmaﬁwsﬁraﬁq
(A) 25 @ (B) 35 3=
(C) 30 LG (D) 21 7@

(B) Chandra Shekhar
(C) Cljnudhary Charan Singh (D) Morarji Desai

ﬁaﬂ44ﬁﬂ?ﬂmﬁ1ﬂfﬂfmﬁﬁﬁfﬂﬁmﬁﬂimﬁﬁwwm
(A) ¥ i (B) wdEw

(C) =Nt worfige (D) Wt 2ard

Who was that Supreme Court Judge against whom the process of impeachment was
Started but he could not be impeached ?

(A) K.G. Balkrishna (B) V. Ramaswami
(C) Somitra Sen (D) Swatantra Kumar

Wﬂw#memmmmMaﬂﬁﬂﬁﬂ

(A) Ff. Fero | (B) df, Tt
(C) wifm &= (D) @ FaR

Twelfth Schedule of Indian Constitution deals wil[}
(A) Panchayati Raj System (B) Nagarpalikas

C) Languages of Union (D) Union-State Relations
Em?ﬂa ;f‘a'em FI GREdl SFqE! W €
(A) gl T @ (B) “mufcimai & .
(C) &% ot s @ (D) H%-Tog ey
Who was that Vice President who died during hijs. ‘tenurf:?
(A) Dr. Radl_'iakrishnan }g]] Knthfal:m
'El?a;i:r?.awwﬁrm o foregenT SEIT T PG B S g 2
(4) . I (B) dtaf. frt
e (D) PO

(C) aitgh s P.T.0.
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98.

100.

80
The percentage of total land area of the ea(nl: is
(A) 320 (B) 303
(C) 29.0 (D) 284
T T F ey & 1 T &
(A) 320 (B) 303
©) 290 (D) 284
The lowest layer of atmosphere is
(A)  Stratosphere (B) Troposphere
(C)  lonosphere (D) Ozonosphere
ARVEH i Faw et v
(A) wuam ques (B) @hmuge
(C) v (D) sitAvEs

A common term used for all the exogenic geomorphic processes is

(A) Diastrophism (B) Weathering

(C) Carbonation (D) Denudation
Hﬁiﬁﬂﬁﬁ&ﬂ@ﬁ?%ﬁ%ﬁﬂqﬁﬁmm%ﬁﬁﬁﬁtﬂﬁﬁ
(A) vew-fawge (B) g

(C) wHEHTE (D) TR

The cyclic flow of chemical elements between organism and environment in biosphere is
known as

(A) Gaseous cycle (B) Biogeochemical cycle

(C) Water cycle (D) Geomorphic cycle

Hg Quee # wig quT TEE % 7Y THEEHS ol & 9hig Y1 $ SET ST

(A) 7T o (B) < ArEEHE O
(C) e =k (D) 3T aF
Which one of the following is not a metamorphic rock ?
(A) Limestone (B) Marble
(C) Quartzite (D) Slate
fpafefaa & @ @ o T BRI I T E 2

(B) WML
(A) T 98

(D) ®E&

(C) wEsme
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101.

102.

103.

104.

_ (81)

On which objects the inscripti J
chiefly found ? riptions of Harappan Culture (Indus Valley Civilization) are
(A) Rocks (B) Seals

(C) Pillars (D) Copper Plates

T Wt (Y urdl wvaen) & sifieta g fee o wa et 0
(A) Toretrat o2 (B) TR

(C) =i | (D) @ T W

The central place of Aryan Culture during Later Vedic Age was
(A) Sapt-Saindhav Pradesh (B) Doab of Ganga-Yamuna

(C) Magadh (D) Deccan

Iv dfeas e o A depla  FEE e 9

(A) O HE R (B) TN A1EE
(C) WM™ (D) &

The author of the famous book entitled ‘Bharat ke Prachin Nagaron Ka Patan’ (Urban
Decay in India : 300 AD - 1000 AD) 15

(A) Radha Kumud Mukerjee (B) Romila Thapar

(C)y D.D. Koshambi (D) Ram Sharan Sharma

sy 3 WA A @ g (Urban Decay - India : 300 AD — 1000 AD) 7 Hfe® T&®
F o E

(A) TS TET (B) e SR

(C) @2 wwE (D) TORRT I

When ‘Hindu Married women's Right to Separate Residence and Maintenance Act’ was

enacted ?
(A) 1955 (B) 1956
©) 1946 (D) 1977
g et ﬁﬁaﬂmmﬁamqam.ﬂwahﬁm"aﬁmﬁﬁgm?
(A) 1955 (B) 1956
(©) 1946 @ 15
P.T.0.
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105.

106.

107.

108.

109.

(82)
The year of 1856 was signi i i i
(A) Hindu Widow Rsef;::?gl::mm\:azlzgf P
(B) An Act against female infanticide was pass';ﬁd
(C)  An Act against Sati System was passed |
(D)  An Act against Witch-hunting was pass]ad
I T % e i 1856 Eﬁraﬂmﬁ'{ﬂh:ﬁﬁ‘ﬁ"
(A) Tog favar gfgamn ety wifa g |
(B) %= 9w % favg sifufran whe gar |
(C) el v & Towg atfifem ofim g2 |
(D) =1 won % fawg arfuferam wifte gam |

Which period in Indian History has been attributed as *Classic Age” ?
(A) The age of Guptas (B) The age of Kushans

ST-2

(C) The age of Maurayans (D) The age of Mughals
A gfewr o sivg g fag wrer % fo wge we g0

(A) < SreT (B) 1T ®Hie

(C) it wret (D) HTE F

Under which dynasty the great sculpture of Bahubali situated at Shravanbelgola was built ?
(A) Hovasalas (B) Gangs

(C) Rashtrakutas (D) Chalukyas
srFuTEenTe feae agae s ger wiaar & Fmfor fam e | gen 2
(A) FIIEA (B) Tim

(C) U=EFHZ (D) =™

The author of ‘Indica’ is

(A) Kautilya (B) Megasthenes

(C) Pliny (D) Vishnugupta
zfugehr’ = @EH &

(A) Wieea (B) ThTese

() ferit (D) fompqe

Who built the ‘Vishnu Temple’ of Angkorvat situated in Kambuj ?

(A) Suryaverma l (B) Jaiverma IV
(D) Yashoverma II1
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110. In whi:::h major Rock Edict of the emperor Ashoka, we find the description of neighbour
countries ?
(A) First (B) Fifth
(C) Eighth (D) Thirteenth
qWIE 79 & fha 93 oot o ggidt 39 & v € 0
(A) R (B) dam
£) W=y (D) e
111, Which of the following Novel of Rabindranath Tagore has the main character Nikhil, who
believes more in *humanity’ than patriotism ?
(A) Shesher Kabita (B) Gora
(C) Yogayog (D) Ghare Baire
T 2 % o S W T e ¥, i Jem @ agat eEar i v T § 2
(A) T Sl (B) i
(C) @ (D) W amt
112. Hindustan Ghadar Party was founded in the year
(A) 1916 (B) 1925
(C) 1913 (D) 1922
e Tt Wil ot T foR e i 2
(A) 1916 (B) 1925
(Cy 1913 (D) 1922
113, Diraham s
(A) Coin of Gold (B) Coin of Copper
(C) Coin of Silver (D) Coin of Alloy
fezem &
(A) | = e (B) e =1 faammt
(C) el = faew (D) Tofua urg =1 fow
114. The last expedition of Shershah Suri was against the ruler of }
(A) Kalinjar (B) Marwar t
(C) Ranthambore (D) Malwa )
mq&'ﬂmaﬁmmmﬁﬂ;ﬁﬁm? ;I
(A) HIfeTAT (B) HRETE
(C) Tormiit (D) wierEl

115. Under which Act the Sati system was banned in Bengal with the efforts of Raja Ram

Mohan Roy 7 |
(A) Regulation XVII AD 1820 (B) Regulation XX AD 1831

C) Regulation XVIII AD 1856 (D) Regulation XIX AD 1829
(O R N et A e o & e P s o T

(A) o XVILAD 1829 (B) fr@m XX AD 1831
(C) Frmw XVIIIAD 1856 (D) s XIX AD 1829

P.T.O.
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116. In which year the Amendment in Indian Constitution regarding Preamble was made ?

(A) 1975
(C) 1978 E[BJ; ,I 3;3
YREA Hfaurt FI wera § weie feg ot 1§ g2
(A) 1975 (B) 1976
(C) 1978 (D) 1992
117. The Constitution Amendment which is related to Right to Education is
(A) 42™ Amendment (B) 52™ Amendment
(C) 61" Amendment (D) 86" Amendment
T Tt de ot ferer o sifusR @ gEfud &
(A) 4291 doaa (B) s2@t g .
(C) 618 HaT (D) 86aT Heme

118. On the basis of which Committee’s recommendations the fundamental duties have been

incorporated in Indian Constitution ?

(A) Sardar Sawaran Singh Committee

(B) Ashok Mehta Committee

(C) Sadig Ah Committee

(D) Hegde Committee

Gy wfiaf 21 Fawiceil @ SN W WAt dfaur § e dded e T ?

(A) wvEr @t fag |fafa

(B) 379l dean afifd
(C) wifess et wfafd
(D) e wiafa
119. Govemment of India appointed Kaka Kalelkar the Chairman of the Commission for other
Backward class. The year of appointment was
(A) 1951 (B) 1953
(C) 1955 (D) 1957
strer T 3 T FeeET @ 3 gt @t s 1 s g e, e @ ad e
(A) 1951 (B) 1953
(C) 1955 (D) 1957

120. In the Constitution of India secularism means
(A) State has its own religion.
(B) State has no link with religion. F

(C) State has no religion of its own.
(D) State recognizes all the religions but has no its own religion.

e & dfagE  a-Frtar # oY ®
(A) TG & HGATEH € |
(B) TG % vd | HHE @ T T |

(C) TG &1 3191 Hif wd T ¥ |
(D) 79 TV wHl @t AT 36 & O S o F g T AL |
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s:l-z To which d . Y
- ch age : ogs
1 A Gu agr-[’rg::i; ;lrli: artistic spler}tllac;ur :éf;lﬁb]?aneri and Rajoregarh belong ?

(C) Guhil-Sisodiya (D) R a:!]:l“::;n

TR T WARITE F FeAeds ave few w e £ 0

122. S:cial Studies is supposed to study
(A) Economical relations of man.(B) Politic i
! : g ' -al relations of man.
EC] Social relations of man. (D) Social geographical relations of man.
AT 3T 3T A E
(A) = & afas gl &1 (B) =i % Torifas g &
(C) =afaw & Wit @i #1 (D) =6 & grafoms-sinifees gl &

123. The cnncept of Social Studies “The Social Studies are those studies that provide
um:!erstandmg of man’s way of living, of the basic needs of a man and the activities in
which he engages to meet his need and, of the institutional he has developed™ is given by
(A) Wesley . (B) John Michaelis
(C) M.P. Moftat (D) Encyclopaedia of Education Research
TS HETH % FHEd H g e A% AeEE & S o Sitad % A-He & e,
e snevamas, B, fad wee s arEvEEATs # qf & fau dera @ &
il Forep 3 fas AT &, 1 S Ve S & 1 e g e g
(A) = (B) it mrgehfert
(€) T, g (D) TETEEwiEar 3 T R

124. The fact which is studied under the area of Social Studies ?
(A) Study of Social relations (B) Study of Human relations

|| (C) Education of Citizenship (D) All of the above
3 st e ° A e o w1 anoge fa ST & 2

| T STerg &
(A) T il AEE (B) Wy aral 1 3nead
(C) AT i fen (D) 39 @i

125. The teacher of Social Sudies is expected to keep in mind the following fact is natural :
(A) Clear vision in the relation of specific facts and thing.
(B) Concept of general fact or qualities.
(C) Establishment of fact. rule, definition, knowledge and method.

(D) All ofthe above. .
wﬁwwﬁmmﬁﬂﬁﬂmﬁmmwmmmmmmﬁ
(A) ﬁﬁﬁmﬁﬂmaﬁﬁimﬂﬁmﬁm

(mwmﬁmwﬁwmr

wﬁm@mmwﬁmwm

(D) Fwg Al

126. How much portion of tirpil g
1 ies during a penod .
social studies during a p & St ©) 3 peroett

hould be given to the statement-guidance while teaching

- B) 60 percent ‘
%ﬁgﬁ%M%Ww meﬁﬁmmm%wﬁhﬁ
9T T @mhed ?

{ﬁmﬁﬁ@:%ﬁ

P.T.O.
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127,

128.

129.

(86)

Evaluation is 4 process of

(A) Determining the extent of the achievement of objectives
(B) Ascertaining the qQuality, valye of outcomes,

(€)  Comparing the outcomes of instruction,

(D) Al of the above,

A1 % gy

() St 9 wear 3 e o o

(B)  gfwmt i 1ureen 5 et 5 Frvay e

(C) R % wRomt 23 e e

(D) 37wt

The use of teaching leaming material in Social Science do

(A) Makes the lesson len gthy,

(B)  Students get bored.

(C) Both the above statements are wrong,

(D) Both the above statements (A) & (B) are true,

I S fewor o fomeqor aifimy TG T g -

(A) U Fr Fa d

(B) ®H I &R E |

(C) 39 2l % armeg § |

(D) 39T <1 F9 (A) 3T (B) T ¥ |

Which Scientist gave the behavioural form of Project methods in education system first of
all ?

i eway (B) Dr. W.H. Kilpatrick
(C) Stevenson (D) None of the abgye
mmﬁmmm#mmmﬂmﬁﬁmhﬂ
W (B) 3. T, ey

i, 4 ©) T

ST-2
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130. Match the following :

131.

132.

(87)

;. E.i}Blmm 4. Evaluation dimension
: erbert b. Memory level
3. Monson ¢. Understanding level
4. Humt d. Reflective level
| 2 3 4
(A d ¢ b 3
B) b d a ¢
(C) a b ¢ d
(D) d ¢ a b
1 %1 w@ frem wifora -
. @ EE .y s
2. s b. W wR
3. HHEw c. AT
4. g d.  fesawr
I 2 3 4
(A) d ¢ b a
(B) b d a <
© a b ¢ d
{D] d C a b

The three stages of evaluation dimension are
1.  Determination of Educational objectives
2. Providing leaming experiences

3.  Evaluation of Behavioural changes

The above stages are given by

(A) B.S. Bloom (B) Herbent
(C) Skinner \ ‘ (D) Thomdike
egiEA AW & 7 i w9 e

|, e 3gvdl & o s
2. T & HPHE WEH

3. ogdel iadA F ediE S
wmﬁmﬁﬁ%ﬁwﬁﬁ%&%mh&ﬂﬁh

(A) uH =H (B) ¥
(C) fat (D) dEE®
Which is not an abiotic resource ?

(A) Soil (B) RI:.ICk
(C) Plants (D) Minerals
FH G7 s GANA 76 8 7

(A) T=1 (B) wW&gH
(C) (D) @

P.T.O.
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133. Which is not a correct statement ?
(A} Parent rock and climatic factors de

(9) Humus is found in the deepest part of the soil.
E](:); %““"'[d‘]"' and slope determine accumulation of soil.

1e night mix of minerals anic . .
2 1 P il s and organic matter make the soil fertile.

(A) 7331 P11 % v s ey vt 31 s 3R sreramfas 0 E |
(B) E{Wwﬁimﬁﬂﬂ?aﬁmﬁqﬁmﬁ%l

(C)  F=aae qran 3 arer go % ww i Fife @ § )

(D) =t ud stfam gandt @1 we fasror ge1 @ 9o @@ € |

termine the soil formation.

134. Among f“"““';:“g which is the leading copper producing country in the world ? |

(A)  South Africa (B) Chile

(€) A“S‘f@‘jﬂhﬁ . (D) Ghana

Trfefad 5 4 fava 1 %13 w1 2w sl den 3eaEs &0

(A) Ef;infﬁ mﬂ'ﬂ (B) hf—vﬂ

(€C) s=femn (D) = |

135. Which is not a conventional source of energy ?

(A) Geothermal energy (B) Petroleum ;
(C) Hydel Power ‘ = (D) Natural Gas ¥
i T TN FHal &l Hid 981 & 7

(A) AT e (B) 2w

(C) e (D) wrEHaE 7]

136. Which 1s not a correct match ?
Shifting Agriculture Countrv/Area

(A) Milpa Mexico

(B) Jhuming North-East India

(C) Roca Braal

(D) Ladang - S Lanka

F14 |1 guferd 7@ 8

TTATAE H ZET

(A) fn?-m : CIEREY

(B) ﬂfq’rr - IAL-E W

(C) T - ﬁﬁi.lﬁ

(D) & = el

137. Which is the highest peak of the Peninsular h!dia ? .

(A) Doda-Beta (B) AnaijMudl‘ ﬁ
(C) Mahendra Giri (D) Kodaikana 3
wragidta e @1 wared Tt A AR
(A) wEda (B) SR
(C) we=frl (D) HIGEHA
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138.

139.

140.

141.

142.

143.

(89)

In which part of India, arrival of Monsoon is earliest ?
(A) Kerala (B) Andman and Nicobar Islands
(C) West Bengal (D) Tamil Nadu
w3 T amT o W Yeel WG TA O 8
(A) I (B) veHM 3 Pl &1y FF
(C) e e (Dy afaeFTg
In which region of India tropical rain forest is found ?
(A) Malwa Plateau (B) Karnataka
(C) Eastern Ghats (D) North-East India
wRe % T v # S ey aufe foed @ 2
(A) TEl & 121 (B) RS
(€) e (D) IR AR
Which one of the following is not a center of iron and steel industry in India ?
(A) Bangalore (B) Salem
(C) Dolwvi (D) Durgapur
sy 3 Frfefiaa d & S 91 U e 3E % AR e
(A) TER (B) @em
(C) Ereram (D) FE
In India, States having highest and lowest density of population in 2011 were
(A) Bihar and Tripura (B) West Bengal and Arunachal Pradesh
(C) Kerala and Sikkim (D) Uttar Pradesh and Mizoram
2011 3 Ffaeman 3T AT S g aTe A & 09 §
(A) T 3T g (B) femsi &me 3 IEOmEE W1
(C) T R Tafary (D) Ferweer 31T fesir
Bhorat Pathar is located between
(A)- Raghunathgarh and Nahargrh (B) Achalgarh and Delwara
(C) Kumbhalgarh and Gogunda (D) Jaigarh and Nahargarh
iz %1 YR ferd &
(A) TFWE AR S A (B) 3Hdeg ST deErs] & A
(C) F9eg ARMRI S a7 (D) TaTg AR ARTE F 7
Which of the following is not a traditional method of water conservation in Rajasthan ?
(A) Khadin (B) Tanka
(C) Toba (D) Nali
frffias o & S H TEE H WERET T G007 @ a6 2
(A) @EgH ' (B) &
(C) (D) =t

P.T.O.
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144. Which is not a correct match ?
Minerals Mining area
(A) Tungsten — Degana
(B) Lead & Zinc — Rajpura-Dariba
(C) Copper — Singhana
{D) Mica — Jamsar
=t |1 e @ &7
At A
(A) T ~ M
(B) e st swar — gt
(C) ~ foaEn
(D) =w=w — HHET
145. Which is not a centre of chemical industry in Rajasthan ?
(A) Deedwana (B) Sawai Madhopur
(C) Kota (:1[2 Alwar
TR | &I T TEIET I6T 7 g T8l &9

(A) SaFr  (B) weWAmigE (C) @ (D) 3T

146. Which districts of Rajasthan was having more than 500 density of population in 2011 ?

(A) Jaipur - Alwar (B) Bharatpur - Dausa
(C) Jaipur - Bharatpur (D) Jaipur - Dausa

2011 ¥ TTE % Hi § Foredt 7 500 9 aifiqer sraieen weg 39
(A) O - HAaT (B) e - g

(C) AR - AR (D) w7 - Zra

147. The Prajamandal of which princely State had observed *Krishna Day’ in 1936 7
(A) Udaipur  (B) Kota ~(C) Karauli (D) Jodhpur
fera wicita & samves 3 1936 € F ‘g feam w0
(A) IR (B) wtar (C) et (D) =g

148. In which district of Rajasthan a ‘“War Museum’ was established in August, 2015 2
(A) Sikar (B) .Iais:almer (C) Jodhpur (D) Barmer
mm%mhﬁﬁ*wm*aﬁmmm*mﬁﬁ#ﬂ#?

(A) #  (B) R (C) WE (D) e

149. Which Chauhan ruler was entitled as ‘Kavi Bandhay’ ?

(A) Vigraharaj IV (B) Prithviraj Chauhan II1
(C) Aranoraj (D) Ajayraj

‘Bl Ty’ T Iy 6w Sw v w5 e o 0

(A) fomgtrr aqd (B) JEi e ey
(C) aurive (D) IR

I150. To whom did Col. James Tod dedicated his travelogue ‘Travels in Western India’ ?
(A) Lord William Bentinck (B) Lord Minto

(C) William Hunter Blair (D) Yati Gyanchandra

F S T 379 A ‘T 39 v Sfvear fd gafe faa o
(A) wiS faferam dfes (B) g fget

(C) faferam #=r =y (D) 3fd s

hﬁ.——.-m—-
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P v 1w spendt 3
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" - Ih 1 H o
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b H guape which the candiday 1 w1l i
e ) iy e 1 will be differsnt from Language-1, candidate has selected as Language-1l in
o 13 S W e A Y T A F A F A S e i e i ) s, wr)

# fa=t gy
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REET 2015 (FINAL KEY)
LEVEL-Il COMMON QUESTION No. 1-30

(Child Development and Pedagogy)

Code-W | Code-X | Code-Y | Code-Z | ANSWER
1 30 22 15 C
2 25 23 16 A
3 26 18 17 A
4 27 19 12 B
5 28 20 13 B
6 29 21 14 A
7 7 29 22 C
8 1 30 23 B
9 2 24 24 C
10 3 25 18 C
11 4 26 19 A
12 5 27 20 D
13 6 28 21 B
14 13 5 28 B
15 8 6 29 D
16 9 1 30 B
17 10 2 25 C
18 11 3 26 A
19 12 4 27 B

20 19 11 4 B
21 14 12 5 BONUS
22 15 7 6 B
23 16 8 1 D
24 17 9 2 B
25 18 10 3 B
26 24 16 9 B
27 20 17 10 C
28 21 13 11 D
29 22 14 7 C
30 23 15 8 B




REET 2015 FINAL KEY (LEVEL-1l LANGUAGE-1)

LEVEL-Il LANG-1 SANSKRIT (31-60)

LEVEL-Il LANG-1 GUJRATI (31-60)

Code-W | Code-X | Code-Y | Code-Z | ANSWER
31 49 41 36 A
32 50 42 37 D
33 51 43 38 B
34 52 44 39 D
35 53 45 40 C
36 54 46 41 D
37 55 47 42 A
38 56 48 43 C
39 57 49 44 B
40 58 50 45 D
41 59 51 46 BONUS
42 60 52 47 C
43 31 53 48 A
44 32 54 49 C
45 33 55 50 D
46 34 56 51 B
a7 35 57 52 D
48 36 58 53 D
49 37 59 54 B
50 38 60 55 D
51 39 31 56 B
52 40 32 57 C
53 41 33 58 A
54 42 34 59 D
55 43 35 60 D
56 44 36 31 B
57 45 37 32 A
58 46 38 33 C
59 a7 39 34 B
60 48 40 35 D

Code-W | Code-X [ Code-Y| Code-Z | ANSWER
31 49 41 36 B
32 50 42 37 B
33 51 43 38 B
34 52 44 39 C
35 53 45 40 A
36 54 46 41 A
37 55 47 42 D
38 56 48 43 D
39 57 49 44 C
40 58 50 45 A
41 59 51 46 B
42 60 52 47 A
43 31 53 48 C
44 32 54 49 A
45 33 55 50 B
46 34 56 51 D
47 35 57 52 B
48 36 58 53 B
49 37 59 54 B
50 38 60 55 D
51 39 31 56 C
52 40 32 57 D
53 41 33 58 A
54 42 34 59 A
55 43 35 60 B
56 44 36 31 B
57 45 37 32 C
58 46 38 33 D
59 a7 39 34 B
60 48 40 35 B




REET 2015 FINAL KEY (LEVEL-1l LANGUAGE-1)

LEVEL-Il LANG-1 ENGLISH (31-60)

LEVEL-Il LANG-1 PUNJABI (31-60)

Code-W | Code-X | Code-Y | Code-Z | ANSWER
31 49 41 36 BONUS
32 50 42 37 B,D
33 51 43 38 A
34 52 44 39 D
35 53 45 40 A
36 54 46 41 A
37 55 47 42 B
38 56 48 43 C
39 57 49 44 D
40 58 50 45 A
41 59 51 46 A
42 60 52 47 B
43 31 53 48 A
44 32 54 49 B
45 33 55 50 A
46 34 56 51 C
a7 35 57 52 A
48 36 58 53 B
49 37 59 54 C
50 38 60 55 B
51 39 31 56 A
52 40 32 57 B
53 41 33 58 C
54 42 34 59 D
55 43 35 60 C
56 44 36 31 B
57 45 37 32 B
58 46 38 33 B
59 a7 39 34 BONUS
60 48 40 35 D

Code-W | Code-X [ Code-Y| Code-Z | ANSWER
31 49 41 36 D
32 50 42 37 D
33 51 43 38 A
34 52 44 39 B
35 53 45 40 A
36 54 46 41 D
37 55 47 42 C
38 56 48 43 B
39 57 49 44 C
40 58 50 45 A
41 59 51 46 A
42 60 52 47 D
43 31 53 48 D
44 32 54 49 C
45 33 55 50 B
46 34 56 51 A
47 35 57 52 B
48 36 58 53 D
49 37 59 54 C
50 38 60 55 D
51 39 31 56 A
52 40 32 57 B
53 41 33 58 D
54 42 34 59 D
55 43 35 60 B
56 44 36 31 C
57 45 37 32 A
58 46 38 33 D
59 a7 39 34 B
60 48 40 35 D




REET 2015 FINAL KEY (LEVEL-1l LANGUAGE-1)

LEVEL-Il LANG-1 HINDI (31-60)

LEVEL-Il LANG-1 SINDHI (31-60)

Code-W | Code-X | Code-Y | Code-Z | ANSWER
31 49 41 36 B
32 50 42 37 A D
33 51 43 38 D
34 52 44 39 B, C
35 53 45 40 C
36 54 46 41 D
37 55 47 42 A
38 56 48 43 B
39 57 49 44 B
40 58 50 45 C
41 59 51 46 A
42 60 52 a7 C
43 31 53 48 C
44 32 54 49 B
45 33 55 50 D
46 34 56 51 BONUS
47 35 57 52 C
48 36 58 53 D
49 37 59 54 D
50 38 60 55 C
51 39 31 56 C
52 40 32 57 A
53 41 33 58 C
54 42 34 59 C
55 43 35 60 B
56 44 36 31 A
57 45 37 32 D
58 46 38 33 A
59 47 39 34 C
60 48 40 35 A

Code-W | Code-X [ Code-Y | Code-Z | ANSWER
31 49 41 36 D
32 50 42 37 C
33 51 43 38 A
34 52 44 39 D
35 53 45 40 B
36 54 46 41 A
37 55 47 42 B
38 56 48 43 C
39 57 49 44 C
40 58 50 45 D
41 59 51 46 B
42 60 52 a7 D
43 31 53 48 C
44 32 54 49 C
45 33 55 50 B
46 34 56 51 A
47 35 57 52 A
48 36 58 53 B
49 37 59 54 C
50 38 60 55 D
51 39 31 56 B
52 40 32 57 B
53 41 33 58 C
54 42 34 59 D
55 43 35 60 B
56 44 36 31 B
57 45 37 32 A
58 46 38 33 A
59 47 39 34 B
60 48 40 35 C




REET 2015 FINAL KEY (LEVEL-1l LANGUAGE-1)
LEVEL-Il LANG-1 URDU (31-60)

Code-W | Code-X | Code-Y | Code-Z | ANSWER
31 49 41 36 D
32 50 42 37 A
33 51 43 38 B
34 52 44 39 A
35 53 45 40 C
36 54 46 41 A
37 55 47 42 C
38 56 48 43 A
39 57 49 44 B
40 58 50 45 C
41 59 51 46 A
42 60 52 47 A
43 31 53 48 B
44 32 54 49 A
45 33 55 50 B
46 34 56 51 B
a7 35 57 52 A
48 36 58 53 C
49 37 59 54 A
50 38 60 55 B, C
51 39 31 56 A
52 40 32 57 A
53 41 33 58 C
54 42 34 59 A
55 43 35 60 A
56 44 36 31 C
57 45 37 32 A
58 46 38 33 B
59 a7 39 34 A
60 48 40 35 B




REET 2015 REVISED KEY (LEVEL-1l LANGUAGE-2)

LEVEL-Il LANG-2 HINDI (61-90)

LEVEL-Il LANG-2 SINDHI (61-90)

Code-W | Code-X | Code-Y | Code-Z | ANSWER
61 86 81 66 A
62 87 82 67 B
63 88 83 68 D
64 89 84 69 A
65 90 85 70 B
66 61 86 71 B
67 62 87 72 D
68 63 88 73 C
69 64 89 74 BONUS
70 65 90 75 B
71 66 61 76 A
72 67 62 77 BONUS
73 68 63 78 B
74 69 64 79 B
75 70 65 80 C
76 71 66 81 B
77 72 67 82 C
78 73 68 83 C
79 74 69 84 A
80 75 70 85 D
81 76 71 86 A B
82 77 72 87 C
83 78 73 88 C
84 79 74 89 B
85 80 75 90 C
86 81 76 61 B
87 82 77 62 C
88 83 78 63 D
89 84 79 64 B
90 85 80 65 A

Code-W | Code-X [ Code-Y| Code-Z | ANSWER
61 86 81 66 A
62 87 82 67 C
63 88 83 68 B
64 89 84 69 B
65 90 85 70 A
66 61 86 71 B
67 62 87 72 C
68 63 88 73 C
69 64 89 74 C
70 65 90 75 A
71 66 61 76 C
72 67 62 77 C
73 68 63 78 C
74 69 64 79 B
75 70 65 80 A
76 71 66 81 B
77 72 67 82 A
78 78 68 83 D
79 74 69 84 D
80 75 70 85 B
81 76 71 86 C
82 77 72 87 B
83 78 73 88 B
84 79 74 89 C
85 80 75 90 D
86 81 76 61 A
87 82 77 62 B
88 83 78 63 D
89 84 79 64 C
90 85 80 65 D




LEVEL-Il LANG-2 ENGLISH (61-90)

LEVEL-Il LANG-2 PUNJABI (61-90)

Code-W | Code-X | Code-Y | Code-Z | ANSWER
61 86 81 66 A
62 87 82 67 B
63 88 83 68 BONUS
64 89 84 69 B
65 90 85 70 C
66 61 86 71 D
67 62 87 72 C
68 63 88 73 B
69 64 89 74 C
70 65 90 75 B
71 66 61 76 D
72 67 62 77 D
73 68 63 78 D
74 69 64 79 C
75 70 65 80 A
76 71 66 81 D
77 72 67 82 B
78 73 68 83 C
79 74 69 84 C
80 75 70 85 B
81 76 71 86 D
82 77 72 87 C
83 78 73 88 A
84 79 74 89 C
85 80 75 90 A
86 81 76 61 C
87 82 77 62 B
88 83 78 63 C
89 84 79 64 C
90 85 80 65 C

Code-W | Code-X [ Code-Y| Code-Z | ANSWER
61 86 81 66 C
62 87 82 67 B
63 88 83 68 B
64 89 84 69 C
65 90 85 70 D
66 61 86 71 B
67 62 87 72 A
68 63 88 73 D
69 64 89 74 C
70 65 90 75 B
71 66 61 76 A
72 67 62 77 B
73 68 63 78 B
74 69 64 79 C
75 70 65 80 D
76 71 66 81 D
77 72 67 82 C
78 73 68 83 D
79 74 69 84 C
80 75 70 85 A
81 76 71 86 D
82 77 72 87 A
83 78 73 88 D
84 79 74 89 C
85 80 75 90 D
86 81 76 61 C
87 82 77 62 D
88 83 78 63 B
89 84 79 64 B
90 85 80 65 D




LEVEL-Il LANG-2 SANSKRIT (61-90)

LEVEL-Il LANG-2 GUJRATI (61-90)

Code-W | Code-X | Code-Y | Code-Z | ANSWER
61 86 81 66 C
62 87 82 67 B
63 88 83 68 C
64 89 84 69 A C
65 90 85 70 B
66 61 86 71 C
67 62 87 72 A
68 63 88 73 B
69 64 89 74 A
70 65 90 75 C
71 66 61 76 A
72 67 62 77 D
73 68 63 78 C
74 69 64 79 B
75 70 65 80 A
76 71 66 81 A
77 72 67 82 A D
78 73 68 83 C
79 74 69 84 B
80 75 70 85 D
81 76 71 86 C
82 77 72 87 A
83 78 73 88 C
84 79 74 89 C
85 80 75 90 C
86 81 76 61 B
87 82 77 62 D
88 83 78 63 D
89 84 79 64 A
90 85 80 65 D

Code-W | Code-X [ Code-Y| Code-Z | ANSWER
61 86 81 66 A
62 87 82 67 C
63 88 83 68 B
64 89 84 69 D
65 90 85 70 A
66 61 86 71 B
67 62 87 72 B
68 63 88 73 B
69 64 89 74 A
70 65 90 75 D
71 66 61 76 B
72 67 62 77 A
73 68 63 78 C
74 69 64 79 D
75 70 65 80 B
76 71 66 81 A,D
77 72 67 82 D
78 73 68 83 B
79 74 69 84 D
80 75 70 85 D
81 76 71 86 B
82 77 72 87 D
83 78 73 88 C
84 79 74 89 D
85 80 75 90 A
86 81 76 61 B
87 82 77 62 C
88 83 78 63 A
89 84 79 64 C
90 85 80 65 D




LEVEL-Il LANG-2 URDU (61-90)

Code-W | Code-X | Code-Y | Code-Z | ANSWER
61 86 81 66 B
62 87 82 67 A C
63 88 83 68 B
64 89 84 69 D
65 90 85 70 A C
66 61 86 71 D
67 62 87 72 D
68 63 88 73 A
69 64 89 74 B
70 65 90 75 D
71 66 61 76 D
72 67 62 77 C
73 68 63 78 B
74 69 64 79 D
75 70 65 80 C
76 71 66 81 A
77 72 67 82 D
78 73 68 83 A
79 74 69 84 B
80 75 70 85 B
81 76 71 86 A
82 77 72 87 B
83 78 73 88 BONUS
84 79 74 89 D
85 80 75 90 C
86 81 76 61 A
87 82 77 62 B
88 83 78 63 C
89 84 79 64 D
90 85 80 65 D




REET 2015 (FINAL KEY)
LEVEL-Il QUESTION No. 91-150

LEVEL-Il MATHEMATICS & SCIENCE LEVEL-1l SOCIAL STUDIES

Code-W [ Code-X | Code-Y | Code-Z [ ANSWER Code-W | Code-X | Code-Y | Code-Z | ANSWER
91 114 109 104 B 91 114 109 104 C
92 115 110 105 A 92 115 110 105 D
93 116 111 106 C 93 116 111 106 D
94 117 112 107 B 94 117 112 107 C
95 118 113 108 D 95 118 113 108 B, C
96 119 114 109 A 96 119 114 109 A
97 120 115 110 A 97 120 115 110 A
98 91 116 111 D 98 91 116 111 B
99 92 117 112 D 99 92 117 112 D
100 93 118 113 C 100 93 118 113 A
101 94 119 114 C 101 94 119 114 B
102 95 120 115 BONUS 102 95 120 115 D
103 96 91 116 A 103 96 91 116 C
104 97 92 117 BONUS 104 97 92 117 D
105 98 93 118 D 105 98 93 118 B
106 99 94 119 D 106 99 94 119 B
107 100 95 120 B 107 100 95 120 D
108 101 96 91 C 108 101 96 91 C
109 102 97 92 D 109 102 97 92 B
110 103 98 93 D 110 103 98 93 D
111 104 99 94 D 111 104 99 94 B
112 105 100 95 C 112 105 100 95 A
113 106 101 96 C 113 106 101 96 B
114 107 102 97 B 114 107 102 97 B
115 108 103 98 A 115 108 103 98 D
116 109 104 99 A 116 109 104 99 C
117 110 105 100 B 117 110 105 100 A
118 111 106 101 B 118 111 106 101 A
119 112 107 102 A 119 112 107 102 B
120 113 108 103 D 120 113 108 103 B
121 145 138 133 B 121 145 138 133 B
122 146 139 134 ¢ 122 146 139 134 D
123 147 140 135 D 123 147 140 135 A
124 148 141 136 A 124 148 141 136 BONUS
125 149 142 137 D 125 149 142 137 C
126 150 143 138 C 126 150 143 138 D
127 121 144 139 D 127 121 144 139 D
128 122 145 140 B 128 122 145 140 B
129 123 146 141 A 129 123 146 141 C
130 124 147 142 BONUS 130 124 147 142 D
131 125 148 143 C 131 125 148 143 B
132 126 149 144 BONUS 132 126 149 144 A
133 127 150 145 B 133 127 150 145 BONUS
134 128 121 146 A 134 128 121 146 A
135 129 122 147 B 135 129 122 147 BONUS
136 130 123 148 B,C 136 130 123 148 D
137 131 124 149 B 137 131 124 149 D
138 132 125 150 D 138 132 125 150 D
139 133 126 121 C 139 133 126 121 BONUS
140 134 127 122 B 140 134 127 122 D
141 135 128 123 B 141 135 128 123 C
142 136 129 124 C 142 136 129 124 B
143 137 130 125 B 143 137 130 125 C
144 138 131 126 C 144 138 131 126 A
145 139 132 127 A 145 139 132 127 C
146 140 133 128 A 146 140 133 128 B
147 141 134 129 BONUS 147 141 134 129 B
148 142 135 130 B 148 142 135 130 A
149 143 136 131 D 149 143 136 131 D
150 144 137 132 A 150 144 137 132 B
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